
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplicare per potenze di dieci ( numero mancante
)

7, 827 × ________ = 782.7 4, 196 × ________ = 41.96

6, 99 × ________ = 69.9 6, 491 × ________ = 649.1

10, 291 × ________ = 1029.1 1, 681 × ________ = 168.1

7, 703 × ________ = 770.3 1, 629 × ________ = 1629

5, 701 × ________ = 5701 5, 24 × ________ = 52.4

9, 77 × ________ = 97.7 4, 978 × ________ = 4978

1, 083 × ________ = 108.3 4, 03 × ________ = 403

1, 171 × ________ = 1171 6, 606 × ________ = 66.06

2, 751 × ________ = 275.1 6, 747 × ________ = 674.7

8, 93 × ________ = 89.3 6, 276 × ________ = 627.6
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